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BACHELOR’S DEGREE PROGRAMME

Term-End Examination

December, 2010
ELECTIVE COURSE : ECONOMICS
EEC-14 : AGRICULTURAL DEVELOPMENT IN
INDIA
Time : 3 hours Maximum Marks : 100

Note: Answer the questions as per instructions given for each
Section.

SECTION-A

Long Answer Questions : Answer any two

questions from this section (in about 500

words each) : 2x20=40
1. Discuss the performance of Indian agriculture

during the post-Independence period. Highlight

the contribution of area and yield to the increase

- in production.

2. State the implications of Agreement on
Agriculture (AOA) of W.T.O for Indian
agriculture. Explain how it affects agricultural
exports from India ? '

3. Mention the objectives of land reforms in India.
How far have the land reforms measures been
successful ?

4. Explain the significance of Marketing of
agricultural produce. What is meant by regulated
market ? What are its important features ? What
is the progress in market regulation in rural India
so far ? '
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SECTION - B

Medium Answer Questions : Answer any three
questions from this section. (in about 250 words each) :

5.

3x10=30
Make an assessment of the prospects of agro-
processing industries in rural India,

Procurement of food grains in India is riddled with
political issues. Explain.

Describe the sources of irrigation for agriculture.

What is “Operation Flood’ state its major
achievements ?

Explain the importance of adequate warehousing
facilities for agricultural commodities,
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SECTION - C
Short Answer Questions: Answer all the Questions
from this section (in about 100 words each) : 3x5=15

10. Attempt any three of the following.

(a) Why has green revolution been successful
in certain areas and not in others ?

(b) Whatare theissuesinvolved in management
of major irrigation system in India ?

() Point out the institutional sources of credit
for agricultural sector in India. _

(d) What factors are responsible for ‘reverse
tenancy’ in India ?

() Can “Procurement” price be less than

"~ “minimum” support price ?

11. Explain any three of the following concepts : 3x5=15
(a) Taxation of agricultural income.
(b) Food security.
() Consolidation of land holdings.
(d) Agro-climatic zoning.
(¢) Inter-sectoral terms of trade.
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